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Question1.

Solution:

LHS=A'-B' =(4'"B')

-C-D=(CND) =4'"B=(BnA4)=B-4
(CnDy=C-D

RHS =B -4

So, LHS = RHS
Question 2.

Solution:

(1)

LHS = AN (A4 UB)
=(AnA)u(4ANB)
=guU(4NB)
= AN B=RHS

Hence proved.

(i1)

LHS = A—(A-B)

—A—-(4NPB)

=AN(ANB")

:Am{A’u(B')'}

=AN(ALUB)

=(AnA)u(4AUB)
=@ U(A4UB)
=(AUB)

= RHS

Hence proved



(ii1)

LHS = AN(AUBY
=AN(ALNPB)
=(AnA)N(ANPB)
=g (ANB)

— ¢= RHS

Hence proved.

(iv)

LHS = AA(AmB)

Question 3.

Solution:
Let acC-B

—aeCanda¢B
=>aeCandag A~ AcB
=>aecC-4

Hence, C—Bc(C-4

Question 4.

Solution:

(@)



(AnB)-B=(4UB)NB' (X-Y=XNY")
=(ANB")N(BNB")
=(AnB")up
=ANB'
=A-B
(i1)
A—(ANB)=AN(ANB)' (X-Y=XNY")
=AN(4'UB")
=(4nA"Yu(4NB")
=puU(4ANnB")
=ANB'
=A-B
(iii)
AU(B-A)=AU(BNA") (X-Y=XNY")
z(AuB)r\(AUA') (Distributive law)
=(AUB)NU (U is the universal set)

(iv)

(A-B)u(AnB)=(4NB')U(4NnB) (X=Y=XnY")
. =An(B'UB) (Distributive law)

=ANnU

=4





